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1) The number of images formed by an object placed 1) T HHTHTAT YOI o 1= T T T G a9

between two parallel mirrors is el I fera it T 8

A) 1 A) 1

B) 2 B) 2

C) infinite .

) C) saq

D) 4

D) 4
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775268

Number of Claims: 1
Declared Answer Key: C
Candidate Claim: A
Final Answer: C

Explanation:

if two plane mirrors are inclined to each other at some angle, and an object is placed in front of them, number of
images formed = (360/angle) - 1.

in this case, if two mirrors are placed opposite to each other, the angle between them is 0 degrees.

so, number of images formed = (360/0) - 1 = infinity

References:

https://www.lidolearning.com/questions/s-bb-ncert8-ch16-ex-q14/q14-how-many-images-of-a-candl/

Conclusion:

The final answer is option C. There is no change in the answer key



2) The ratio of velocity of light in water to that in glass  2) zrfe a7+t 3fi% = % fAZUer sraad=is® 4/3 i< 3/2

if the absolute refractive indices of water and glass g, T ITAT § TehT9T % A7 37T i T AT % A7 7
are 4/3 and 3/2 is

AT AT gIIT?

A) 9/8 A) 9/8
B) 1/2
) B) 1/2
C) 8/9
C) 8/9
D) 2/1
D) 2/1
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775266
Number of Claims: 17
Declared Answer Key: C
Candidate Claim: A,B,C,D
Final Answer: A
Explanation:
C
L—
: =
R.I. of glass C V elocity of light in water
= ho4
R.I. of water  V elocity of light in glass C

3/2 B V elocity of licht in water 9

- 4/3 W elocity of light in glass 8

References:

https://www.toppr.com/ask/question/if-the-absolute-refractive-indices-of-water-and-glass-are-43-and-32-respectively-then/
Conclusion:

The final answer is option A. There is change from Option C to Option A.




3) A body of mass m initially at rest explodes into two

fragments having masses m/4 and 3m/4
respectively. The lighter fragment is thrown off with
a velocity 30(i - j) m/s, where i and j are unit vectors
along X-axis and Y-axis respectively. What is the
velocity of the heavier fragment?

A) 10(j - i) m/s

B) 10(i - j) m/s

C) 30(j - i) m/s

D) 30(i - j) m/s

3) T FT UF U4 AT FEHTEedT § wieh?
FHL: M/4 3T 3m/4 THHTT AT &1 Thel | g2 Srav
gl gt et 30(i - j) m/s & T & AT g, et i
ST | AT X-376F 3T Y-37eT o [T THIS AIQeT 5l
AT The T a9 FAT 5?2

A) 10( - i) m/s

B) 10(i - j) m/s
C) 30(j - i) m/s
D) 30(i - j) m/s

Domain Name

Batch

Question No

Engineering Laterals

Batch 2

Q2775074

Number of Claims: 6
Declared Answer Key: A

Candidate Claim: A, B, C
Final Answer: A

Explanation:

Siven,

A bﬂdj trﬁ mass m inih

m =M and my= 3M
4 4

ot vest explodes imbp hD masses,

ve.lpcf!j’ of m, v = 30(?—3) m[s .

Then,
inihod momenfum =0

L

Lek |he UEIO::_E.S H':F- e heowier Mmas My be Vp .

Fined momentum = mivy +mava

'ﬁfom Lﬂmwvmﬂmo-é Gnesy wvomendwm

er| —'l* m;_‘v'?_ =

"1‘

o
b 3n(f-j)+ 342 vV, =0

.2 o e
o, 30(i=j)=-3Va > Vp= 10(j-L) ms.

Ans (A)




Conclusion:

The final answer is option A. There is no change in the answer key



4) A running man has half the kinetic energy that of 4) s JT=d gU ATaHT Fit TS ST AZH T TS
a running boy of half his mass. When the man 5t o aefy %’, TSIEeFT S| edT & 299 9
speeds up by 1.0 m/s, he has as the same kinetic e 3| Star atraeft 1.0 Hew/ase it fq T Si=ar
energy as the boy. What is the original speed of the Iy sy i3 ot T=F F T 6""(\' §| AreHT Fir

man in m/s ?

FTEqrae Td m/s 7 Era«t 872
A) A2-1 A) 2-1
B) 242 B) \2+2
ke 0) V341
D) 2-2
D) \2-2
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775107

Number of Claims: 1

Declared Answer Key: C

Candidate Claim: None of These

Final Answer: C

Explanation:
1 l,1m 2
®) gmVi=gx32"
I‘J‘= v
or ‘-"’-T or V:E
. 1 2_1m 2
Amn.zmﬁ’d-l] 23 Y
.
or (V+1 IE
or \’1-1-?';—
o » & L] v
(id) - (i) gives 1'?:?'2
Mszu-ﬁu
b= rard x2+wﬁ_
- 2-2 2+2
or v=2V2 +2
or ve=202 + 1)

.{E)

i)

or v=v2(2+v2)

Again, V.E.i‘-ﬁz—”l.-ﬁu

2




Let Ihz mass of lie man be M and ils oviginal speed be Uy,
Then, his kinekc WJH,EMC 'EM#,.}.,

ASPQ# (e que.s-l-?o‘ng mMass oﬁ [h= boj,m: M rnoviﬂg, willf-:'c;udadg
U, . Thea, his kinehe enegy, 2
Ep= :'imﬂg' Now, Em = Eb

2
\ M 7)‘ I 5,
= x 2 xWMl= _xMxy
z(/g 2 Y7 3 M x Vi

L

S Vp=aVm o, Vm=Vp/2
Now, IHe ned speed of IKe man, Vm= Vin +1
Em =Ep
i/p{((\.'m-\'l_)l: Ep, = Em = aX-l-ll‘a"IUy%q

(Vm+1)*= AV
Vm+! = y2 Vm
(ﬁ —1)Vm |

SeVm= L ols = (V2
(o = )

S Vm o (V2+1) m[s

n

References:

H. C. Verma, Concepts of Physics, Vol. 1, Bharti Bhawan Publishers and Distributers (1999).

Refer the link below (Q108):
https://books.google.co.in/books?id=exm1pp]JqnkkC&pg=PA167&lpg=PA167&dq=A+running+man+
has+half+the+kinetic+energy+that+a+running+boy+of+half+his+mass+has.&source=bl&ots=1TcRZ7t
Yun&sig=6CgoUbJxL_vGP7ZhrTwa3K_IBKI&hl=en&sa=X&ei=nWZXVev]AseUuQSd64K4Cw&ved=0CD
UQ6AEwAw#v=onepage&q=A%20running%20man%?20has%20half%20the%20kinetic%20energy%
20that%20a%20running%20boy%200f%20half%20his%20mass%20has.&f=false

Conclusion:

The final answer is option C. There is no change in the answer key



5) Thermodynamic state variables are of two types 5) SRl ) (qHTg|qr|||(4\-|q)) AAET H T o
intensive and extensive. The quantity which best e % Zrq & w=e (32fFe) i Aot (werrd o)
suits for the example of intensive variable is T2 AT ST T 9 E IR % %rq T STTE %

A) Mass T g
B) Internal energy A) TETHH
C) Volume B) sirafi Flt
D) Density C) T
D) g
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775540

Number of Claims: 3

Declared Answer Key: D

Candidate Claim:A,D

Final Answer: D

Explanation:

An intensive variable is one which does not depend on system size (like temperature, pressure, or density).
An extensive variable is one which depends on system size (like mass, internal energy or volume).
References:

http://www.ncert.nic.in/NCERTS/I/keph204.pdf
https://books.google.co.in/books?id=KR1CDAAAQBAJ&pg=PA27 &dg=intensive+thermodynamic+state+var
iables+%2B+internal+energy&hl=en&sa=X&ved=0ahUKEwj_yP3zn9rnAhWf6 XMBHVB_BvwQG6AEIPzAD#v
=onepage&g=intensive%20thermodynamic%20state %20variables%20%2B%20internal%20energy&f=true
http://pillars.che.pitt.edu/student/slide.cgi?course_id=12&slide_id=24.0
https://www.toppr.com/content/concept/thermodynamic-state-variables-and-equation-of-state-210118/
https://www.examfear.com/notes/Class-11/Physics/Thermodynamics/1733/Thermodynamic-state-

variables.htm

Conclusion:

The final answer is option D. There is no change in the answer key




6) A sphere, a cube and a thin circular plate all of 6) TaTT ATEHY ¥ TUTT FSAATT ATAT UF TAT, TH

same material and same mass are initially heated to = sfiv TF qaqtl JATHIT e, A T 99U g

same high temperature. Then

A) Cube will cool fastest and plate the slowest
B) Plate will cool fastest and cube the slowest
C) Plate will cool fastest and sphere the slowest

D) Sphere will cool fastest and cube the slowest

ATIHTA ek ITH T STt g1 UHT e U<

A) T T ST H ST ZT 37T T 9o fiH T
ST B

B) wie HaH TSIl & 381 gRIT 3% o qa fiH &
ST 8

C) wofe HaH qSil & 33T AT ST e Jad &7 &
ST B

D) AT T Il & ST R AT o da+ 7 &
ST 8

Domain Name

Batch Question No

Engineering Laterals

Batch 2 Q2775601

Number of Claims: 2
Declared Answer Key: C
Candidate Claim: B
Final Answer: C

Explanation:

Since the mass of the sphere, cube and circular plate are same. Also they are made up of the same

material. So their density will also be same. Thus,

their volume will be same.

For same volume, a thin circular plate will have the maximum surface area, then the cube and finally, the

sphere will have the minimum surface area.

Greater the surface area more will be the heat dissipation.

Emissive energy o« area

Hence, a circular plate will cool the fastest and the sphere will cool the slowest.

Ans (C)
References:
NCERT Physics

Conclusion:

The final answer is option C. There is no change in the answer key




7) If a charge moves in an electric field, the work 7) ofg #rE smarer fHea e & wfq #ar g, ar

done is converted into 7 e g g e g
A) potential energy A) Rafast st &
B) current B) ﬁ'ﬂ?r qTT H
C) kinetic ener .

) o C) st et
D) electrostatic energy .

D) Ruva=a =it &
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775341

Number of Claims: 7
Declared Answer Key: C

Candidate Claim: A,B,C

Final Answer: C

Explanation:

Work done in moving a charge in an electric field leads to change in potential energy.

If the charge is moved by an external agent opposite to the direction of electric field, there will be an
increase in potential energy.

If the charge is moved due to the force exerted on it by the electric field, then there will be a decrease in

potential energy of the system.

References:

https://phys.libretexts.org/Bookshelves/University_Physics/Book%3A_Calculus-

Based_Physics_(Schnick)/Volume_B%3A_Electricity_ Magnetism_and_Optics/B05%3A_Work_Done_by_the

_Electric_Field _and_the_Electric_Potential

Conclusion:

The final answer is option C. There is no change in the answer key



8) Which of the following gases is a primary 8) fawforfera & & #:19 = i yFfa® 9 3w

constituent of both natural gas and biogas? TTARE ST T I HF =72 22
A) Oxygen A) ST
B) Hydrogen B) W
C) Nitrogen

) Nitrog C) ArEE
D) Methane

D) #ter =
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775362

Number of Claims: 2
Declared Answer Key: D
Candidate Claim: A,C
Final Answer: D

Explanation:

Biogas is a mixture of methane and carbon dioxide produced by the decomposition of plant and animal waste in
the absence of oxygen. It contains methane (45%-65%) and carbon dioxide (30%—40%). It may contain
hydrogen, and hydrogen sulphide gases also.

So, the primary constituent in both is methane.

References:

NCERT class X Science Chapter 14: Sources of Energy
http://www.environbusiness.com/eeae/biogas

Conclusion:

The final answer is option D. There is no change in the answer key




9) The device which can focus the image of a distant 9) =g Iu=¥or ST FoFefY g% it a=q & Tt &1 a&g

object on a screen placed on the same side as the zF 3} qvF T &f 97 Ffed FT gFdl g, Fgardl

object is %
A) Concave lens A) ST S
B) Concave mirror B) ;
C) Convex mirror
C) 3T« gUIT
D) Convex lens )
D) 3T &€
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775265

Number of Claims: 2
Declared Answer Key: B
Candidate Claim:C

Final Answer: B

Explanation:

Concave mirror forms real image of a distant object at the focal point on the same side of the mirror.
References:

NCERT Science For Class X, Chapter — Light — Reflection and Refraction.

http://study.com/academy/lesson/what-is-a-concave-mirror-definition-uses-equation.html.

http://www.meritnation.com/ask-answer/question/a-student-determines-the-focal-length-of-a-device-x-by-
focu/determining-focal-lengths-of-concave-mirrors-and-convex-lens/781857

Conclusion:

The final answer is option B. There is no change in the answer key



10) The value of acceleration due to gravity "g" of the 10) t{z—ﬁ F WQCUT "g" o FHTLIT ELIT T A &

earth is A) g =9.8 cm s”2

= A
A) g =9.8 cm s72 B) g = 9.8 cm/s”2

B) g = 9.8 cm/s”2
C)g=9.8m/s"2

C)g=9.8m/s"2

D) g = 9.8 ms”2
D) g = 9.8 ms”2
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775614

Number of Claims: 3
Declared Answer Key: C

Candidate Claim: C,Wrong Framing of Question

Final Answer: C

Explanation:

The question has been framed correctly and candidate should not face any difficulty in arriving at the correct answer.
Acceleration due to gravity is the acceleration gained by an object due to the gravitational force. Its Sl unit
is m/s2. It has both magnitude and direction, hence, it's a vector quantity. Acceleration due to gravity is

represented by g. The standard value of g on the surface of the earth at sea level is 9.8 m/s2.

References:
_https://physicsteacher.in/2017/10/18/acceleration-due-to-gravity-height-depth/
https://www.physicsclassroom.com/class/circles/Lesson-3/The-Value-of-g

https://byjus.com/jee/acceleration-due-to-gravity/

Conclusion:

The final answer is option C. There is no change in the answer key



11) Relative permittivity of a medium may be 11) f3eft wreaw £ Araer TrreTar #1 Fafafea o

expressed in terms of the ratio of CRELIC LRI * =T H =01 69T ST 94T %’?
A) forces between charges in vacuum and medium A) gt o qreas & et ¥ i 997
B) charges in medium and vacuum B) werq <7 et & ardor
C) forces between charges in medium and vacuum . .
) 9 C) T sie faarta # et ¥ et 7=
D) charges in vacuum and medium .
D) TR ¥ |reaw ® srerer
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775342

Number of Claims: 1
Declared Answer Key: A
Candidate Claim:D

Final Answer: A

Explanation:

Relakive Ptme.a.bdlﬁﬁ,év of o medium ig alanc.J s .

€= &
€p
Force betn C—hm{je/.\ invacuwn , F = L %4,
S epaysted by a distance T 4re0 -
Fovee be\:n chaw {n a medium, gl L 1,y
Geparrated by ame dist. r 4rE o
FEo= L % dxe y 28 = € = Erkosey

F! 4xéo0 Y Y So €o

L. ev= voto of forxes beln dnara;en imn Vacuwm and
medium .

References:

https://books.google.co.in/books?id=bihuAgAAQBA]&pg=PA9&Ipg=PA9&dq=Can+relative+permittivi
ty+may+be+expressed+as+ratio+of+forces+in++medium+and+vacuum&source=bl&ots=C_ebxlhGrK&
sig=ez8-

JRSGRRPRQRCluzckbEfHxHY&hl=en&sa=X&ei=1ZtTVbqiEoK6uASVuoCoCw&ved=0CC8Q6AEWAw#v=

onepage&q=Can%?20relative%20permittivity%20may%20be%?20expressed%20as%20ratio%200f%
20forces%20in%20%20medium%20and%20vacuum&f=false

Conclusion:

The final answer is option A. There is no change in the answer key




12) The famous Lycurgus cup kept in the British 12) fafeer wuge™ ® @1 wiHg A& &9
museum looks green in reflected light and red in gegfdq werrer & g2 T UTEAfAT YT H TN
transmitted  light. Which of the following fraT &1 e & & # & a5 2y v ¥ B

nanoparticles are responsible for the green colour? P %

A) Iron nanoparticles

INERIGERIRIIEETR:

B) Gold nanoparticles
B) Tiee AddT eahed

C) Silver nanoparticles

C) ffreax amTiEaen

D) FTae A&

D) Carbon nanotubes

Domain Name Batch Question No

Engineering Laterals Batch 2 Q2785842

Number of Claims: 2
Declared Answer Key: C
Candidate Claim:B,C
Final Answer: C

Explanation:

The green colour of the Lycurgus cup is attributed to the light scattering by colloidal dispersions of silver particles
with size >40 nm.

References:

M. Loos, Carbon Nanotube Reinforced Composites, ScienceDirect (2015).

https://www.sciencedirect.com/topics/engineering/lycurgus-
cup#:~:text=This%20cup%20looks%20green%20in,glass%20which%20scatter%20the%20light.

Conclusion:

The final answer is option C. There is no change in the answer key



13) Lens which diverges light from a point source is  13) ag =¥ ST U= fag &G & Y19 T A= Fear

A) Biconvex Lens g, FgATdl &
B) Biconcave lens A) IHITCAS v
C) Convex Lens B) ST v
D) Concave lens C) 39 Sy
D) staaet s e
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775269

Number of Claims: 1
Declared Answer Key: D
Candidate Claim: B
Final Answer: D
Explanation:

The parallel ray goes from the tip of the object horizontally to the lens. It refracts through the lens and diverges away
from the principal axis going directly away from the focal point on the object side of the lens.

Concave lens diverges light from a point source.

References:
http://physics.bu.edu/~duffy/semester2/c28 lenses.html

Conclusion:

The final answer is option D. There is no change in the answer key



14) Find the dimensional formula of [(G2M®)/(L2S)]'3, 14) [(G2MS)/(L2S)]"3 =T fasfira o1 st Frfsm, stet

where L, S, G and M represent angular momentum, | 'S G sfw M FHer: FHIV(T Ha9T, Tided, T
stress, gravitational constant and mass respectively. R 3T T T #7 29 %I
A) [LT]

A) [L1T-1]
B) [T]
B) [T]
C) L
C) L
D) [M]
D) [M]
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775079
Number of Claims: 6
Declared Answer Key: C
Candidate Claim: A,B,Wrong Framing of Question
Final Answer: C
Explanation:
G-C‘ZNF)/(L?.S)] I/a 2_-1
L= &Vﬁulm momentumn = TXP ) = LXMLT_' =MLT
s ~ shress , [s] = [F]= Mt s MR
LA L
G = Growitalonod Const.
Fegmim  -. g= EY
T+ mima
- Mt o et
MZ.
M= wmass , [M] = M
[G12M5:| - (M—ngT—z)z(Ms) & Much’Tﬂqug » M3L£.r:"(
|*s] - (M2 (') s MM T el TR
s ML=
armo 1/5: m> L6 T—‘f /3 - [Lz.:fl/s = L
[ Lls ] [MBLZT—Mj)
Ans (C)
References:

H. C. Verma, Concepts of Physics, Vol. 1, Bharti Bhavan Publishers (1999).

Conclusion:

The final answer is option C. There is no change in the answer key



15) A polythene piece is rubbed with wool is found to  15) s TTeHTIT % Tz T FT T WgT 9L 3 x 10 7

have negative charge of 3 x 10 7 C. Find the number G =7 =gurrers e Icq=r 2rar 21 EATHIARA
electrons transferred (from which to which)?

TAFSIAL T TEAT AT i oy (e | orehe TR o) ?

A) 18.7 x 10 2from polythene to wool A) 18.7 x 10 12 N S

B) 1.87 x 10 -12 from wool to polythene N
) POy B) 1.87 x 10 -12 e & qiefiofie o

C) 1.87 x 10 '2 from polythene to wool .

C) 1.87 x 10 2 Tiferefi™ & 31 a
D) 18.7 x 10 2from wool to polythene y

D) 18.7 x 10 2 & | qiferefi= T

Domain Name Batch Question No

Engineering Laterals Batch 2 Q2775346

Number of Claims: 16
Declared Answer Key: C

Candidate Claim: A,B,C,D,None of These,Wrong Framing of Question

Final Answer: None of the options
Explanation:
3 x 107 -

No.of electrons transferred = '— =187x 10"

From wool to polvthene.

References:

https://books.google.co.in/books?id=bihuAgAAQBA]&pg=PA215&Ipg=PA215&dq=A+polythene+piece+is+rub
bed+with+wool+is+found+to+have+negative+charge+of++++++++++++++++++3+x+10+-
7+C.+Find+the+number+electrons+transferred+(from+which+to+which)?&source=bl&ots=C_faxEmHmP&sig=
7FV-
zaDRg2bsqzQX4Kw4nuideCo&hl=en&sa=X&ved=0CBO0Q6AEWAGoVChMIspaOhgXExwIVTpGOChOTSAtj#v=one
page&q=A%?20polythene%20piece%20is%20rubbed%20with%20wo00l%20is%20found%20to%20have%20n
egative%20charge%200f%20%20%20%20%20%20%20%20%20%20%20%20%20%20%20%20%20%203
%20x%2010%20-
7%20C.%20Find%20the%20number%?20electrons%?20transferred%20(from%20which%?20to%?20which)%3
F&f=false

https://www.toppr.com/ask/question/a-polythene-piece-rubbed-with-wool-is-found-to-have-a-negative-

charge-of-3times-2/
Conclusion:

As none of the options are correct, the question is Nullified.




16) The thermodynamic quantity which is a measure 16) ag FHTSTAATIHE HTAT F4T & ST F€eH &l FeA

of the total heat content of the system is a2 FOAT T UF 7T 272
A) Internal Energy A) FrafT et
B) Free Energy B) T St
C) Enthal
) Enthalpy C) Tt
D) Entropy .
D) wegfi
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775549

Number of Claims: 1

Declared Answer Key: C

Candidate Claim:D

Final Answer: C

Explanation:

Enthalpy is a measure of total heat content of the system

The thermodynamic quantity which is a measure of the total heat content of the system is known as
Enthalpy

Entropy, the measure of a system's thermal energy per unit temperature that is unavailable for doing useful
work.

Free energy is that portion of any first-law energy that is available to perform thermodynamic work at
constant temperature, i.e., work mediated by thermal energy.

In thermodynamics, the internal energy of a system is the energy contained within the system.
References:

https://www.thermal-engineering.org/what-is-enthalpy-definition/
https://www.nuclear-power.net/nuclear-engineering/thermodynamics/what-is-energy-physics/what-is-
enthalpy/

http://www1.Isbu.ac.uk/water/thermodynamics.html

https://brainly.in/question/1311824

http://tutors4you.com/thermodynamicsenthalpy.htm

Conclusion:

The final answer is option C. There is no change in the answer key



17) What is an Example of non renewable Source of 17) FSTT & AX-AS RO ST FHT IITZLOT FAT 52
Energy?

A) gaT1
A) Wind
) Win B) s i
B) Natural gas
) Natural g C) a3
C) Bio power
D) &< &l
D) Solar energy
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775398

Number of Claims: 4

Declared Answer Key: B

Candidate Claim:A,D

Final Answer: B

Explanation:

A renewable resource can replenish itself at the rate it is used, while a non-renewable resource has a
limited supply. Renewable resources include wind, biogas, biofuels, Tidal energy, Geothermal energy,
Nuclear energy and solar while non-renewable resources include coal, petroleum and natural gas.
Biogas, also known as renewable natural gas, It is “renewable” in the sense that humans and animals will

keep producing waste

References:
Renewable and Non-Renewable Energy Sources, https://gkscientist.com/renewable-and-non-renewable-
energy-sources/

https://books.google.co.in/books?id=1_FjAgAAQBAJ&printsec=frontcover&dq=which+of+the+following+is+a
n+example+of+a+renewable+source+of+energy&hl=en&sa=X&ved=0ahUKEwj_5ornyvHnAhVNwjgGHfLN
DX8Q6AEIKDAA#v=0nepage&q=which%200f%20the %20following%20is%20an%20example%200f%20a%
20renewable%20source%200f%20energy&f=false

Conclusion:

The final answer is option B. There is no change in the answer key



18) In Sl system, which of the following is NOT a 18) S| worrett #, fA=ferfera & & = wifors =T s e

fundamental or base physical quantity? ENRET e i

A) Luminous Intensity A) s aar

B) Electric current B) ﬁ_%_(r SEI

C) Amount of substance

) C) =Ty #T 9713

D) Plane angle

D) Tqaet T
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775073

Number of Claims: 8
Declared Answer Key: D

Candidate Claim: A

Final Answer: D

Explanation:

Angle is the ratio of two lengths namely arc length to the radius making it a dimensionless quantity. Angle is
not a basic quantity because it is defined by another basic quantity i.e. length. Derived quantities all have

dimensions which is not the case for angles. Thus, They are called supplementary quantities.

References:

http://ncert.nic.in/NCERTS/I’lkeph102.pdf

Conclusion:

The final answer is option D. There is no change in the answer key




19) Among the following physical quantities, the only 19) fAsrferfera wifas am=Tat & ¥ ag Wifas am=r
one that has an Sl unit but is dimensionless is FF | g e UHers T ar g AT ag

A) Reynolds number AATAEIAT 872

B) Solid angle A) TATeEH Ja¥
C) Amount of substance B) Tifere varer
D) Luminous Intensity C) N
D) =8 draar (Foe efet)
Domain Name Batch Question No
Q2775072
Engineering Laterals Batch 2

Number of Claims: 12
Declared Answer Key: B

Candidate Claim: A,B,D,None of These,Wrong Framing of Question

Final Answer: B
Explanation:

The question has been framed correctly and candidate should not face any difficulty in arriving at the correct answer.

Reynolds number has no unit and no dimension. Amount of substance AND Luminous Intensity have both

unit and dimension. Solid angle has Sl unit steradian and is dimensionless

The solid angle is defined as the area on the unit sphere subtended by the angle divided by one unit area. It's a ratio
so it's a single dimensionless number.

References:

https://books.google.co.in/books?id=dvwR7XtAwr0OC&pg=PA258&dg=dimensional+formula+of+Force+and+
weight+istsame&hl=en&sa=X&ved=0ahUKEwiCiZbugMTnAhWKzDgGHfSMC6gQ6AEIKDAA#v=onepage
&q=%220f%20the%20following%20are %20dimensionless%22&f=false

https://physics.stackexchange.com/questions/98863/whats-the-dimensionality-of-a-solid-angle

Conclusion:

The final answer is option B. There is no change in the answer key



20) A body of mass 'm' starting from rest is acted on

by a force producing a velocity v=ylkxs where K is
a constant and s is displacement. The work done by

the force in the first 't' seconds is
A) ntk’t* /8
B) mkt® /4
C) mkt* /8

20) T=THTE 'm' &7 T (e AaHmasm & I 2]

r=atkxs

TF A FIT FTH FAT £ S TF AT ST
FLAT & gt k T o 8 3T s e 81 uger 't
e | I gIT R AT AT 7 8

A) ntk’t* /8

B) mkt® /4
C) mkt* /8

D) nfk’t
D) nik’t
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775105

Number of Claims: 3
Declared Answer Key: C

Candidate Claim: A,D,None of These

Final Answer: C
Explanation:
Fk o»

vk xs
on integration we get
kt?
1
differentiating with respect to t
kt

a9

=

¥ 2]

V=4
dE._
dt

5=

v

differentiating with respect to t
_ k
=

2,0
mlc-t*

W=Fs=

References:

H. C. Verma, Concepts of Physics, Vol. 1, Bharti Bhawan Publishers and Distributers (1999).

Conclusion:

The final answer is option C. There is no change in the answer key




21) Among the following pairs of physical quantities, 21) Wifa= AT * AHferaT TR T TEHATT U
the only pair which does NOT have the same smw 3 fSrrert faefiar oo o= 7€ 8

dimensional formula is

A) e T i i &1 R
A) Linear momentum and Planck's constant
B) I A a9
B) Force and weight y )
C) Tr 4T 3T AeesTid feaTi®
C) Entropy and Boltzmann constant
D) wfe &% srerT
D) Momentum and impulse
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775071

Number of Claims: 49

Declared Answer Key: A
Candidate Claim: A,B,C,D,None of These
Final Answer: A

Explanation:

A Lineav Momentum and Planck'n tonstant,

Lineawn momeﬂfumﬂ['p] - [MV] = MLTA 5 j NOT Same
y B yi
Planclin comat. [h] = [T. s = PASY X T = MET

g. Fovee and wa.l_aht

Fovee , LR = MLT ; i — Same .
E i -
Weight, [w] = [mg] = Mx LT =MLT

G EV"‘TOPj and. BoWzmann Const .
~2 -~
EntopplRl=fry] = METR | f _ Same..
32
fokzmamin CDH\S}'.,[.k] = [J’/ Kj = MLT |

0. Momentum and iwnpw.sc .
C&Ssmt\j fhis momerdm 1o be |lineanr m-omemﬁm‘)
-
w = = ML
Mowm ervtum, el Emv]vz T . } e
Impwse , [Fat] = MLT xT= MLT

Ang (A)




References:

Resnick, Hallidey and Walker, Fundamentals of Physics, Extended. 10t Edition, Wiley (2014).
https://books.google.co.in/books?id=dvwR7XtAwr0OC&pg=PA25&dg=dimensional+formula+of+Force+and+
weight+istsame&hl=en&sa=X&ved=0ahUKEwiCiZbugMTnAhWKzDgGHfSMC6gQ6AEIKDAA#v=0onepage
&q=%22quantities%20have%20the%20same%20dimensional%20formula%22&f=false

Conclusion:

The final answer is option A. There is no change in the answer key



22) Which of the following nanomaterials are used in 22) & &< it FHfrrret F sy=me & Fwfofaa &

the treatment of breast cancer cells? T B eI T IUIRT B7aT ST g?
A) Graphene sheets A) TR sfte
B) Gold coated nanoparticles B) Tieg #ide AAqTCHoq

C) Carbon nanorods

C) FTad AqIgH
D) Fe nanoparticles

D) Fe d=rarféares
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2785857

Number of Claims: 1
Declared Answer Key: B
Candidate Claim:C

Final Answer: B

Explanation:

Gold coated nanoparticles are used in Cancer therapy.

Among the provided options, Gold nanoparticles are used in localized Cancer therapy. To treat breast cancer cells
with gold-coated nanoparticles, for example, antibodies are attached to the gold nanoshells, which latch onto the
targeted cancer cells. In gold nanoshell treatments with mice, scientists achieved a 100 percent effectiveness rate in
killing breast cancer cells, compared to the untreated mice, which all died within 30 days.

References:

L. Williams, Dr. W. Adams, Nanotechnology Demystified, McGraw Hill (2007), Page 98, 00, 110.
Anshu B. Mathur, Nanotechnology in Cancer, Elsevier (2017).

Conclusion:

The final answer is option B. There is no change in the answer key



10m

23) A cyclist comes to a skidding stop in 23) Te ATzihforee10 fex # fFwfEw wiv a7 arar

. During this process, the force on the bicycle due to g| TH TThAT & ST, 6 o 10T 9T iehel ¢ 94

the road is 29°¥ and is directly opposed to the FTeT &= 200N g 3T 7g T ey foada g1 9%
motion. The work done by the cycle on the road is

I gTETher gTT o 3T 1 8

A) —200 ] A) - 200 J
B) 2000/ B) 2000 ]
C) Zero
) C) =
D) + 200 J
D) +200 J
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775097

Number of Claims: 5
Declared Answer Key: B

Candidate Claim: A,B,C,D

Final Answer:C

Explanation:

Newton’s law of motion suggests that if the cyclist exert a force on the road, the road will also exert a force on the
cyclist. The reaction force will do work only if it displaces. In this case, the road remains in its position and doesn’t

move at all. Rather the point of application of force by the cyclist on the road changes. Hence, the work done must
be 0.

References:

https://www.doubtnut.com/question-answer-physics/a-bicyclist-comes-to-a-skidding-stop-in-10m-during-this-
process-the-force-on-the-bicycle-dur-to-the--11764587

Conclusion:

The final answer is option C. There is change from B to C.




24) Statement 1: A photon has a zero rest mass. 24) F99 1: ®IETT &7 aqI e T=H1T AT 2l
Statement 2: It is impossible to slow down a photon. e 2: FyatT T | FAT EHTT %q

A) Both the statements are correct but statement 2

A) TET FAT Tl & AT HI9 2 FI9 1 F7 Foweg
is not the inference of statement 1. H@ %

B) Statement 1 is true but statement 2 is false.
) B) FUT 1 T § AT H2I 2 AT §

C) Statement 1 is false but statement 2 is true.

C) FI9 1 AT ¢ AAThd HAT 2 A ¢

D) AT F97 Ael & 3T FI9 2 Fa9 1 § foraw
fAend g

D) Both the statements are correct and statement 2

is the inference drawn from statement 1.

Domain Name Batch Question No

Engineering Laterals Batch 2 Q2785831

Number of Claims: 2

Declared Answer Key: D

Candidate Claim:C

Final Answer: D

Explanation:

A photon has zero rest mass. Due to which the energy and momentum expressions are valid only if photon
is always moving with a speed equal to speed of light.

Thus, it is impossible to slow down a photon

References:
Arthur Beiser, Concepts of Modern Physics, 5™ Edition, Tata McGraw Hill (1997), Chapter 1, page No. 30.

Conclusion:

The final answer is option D. There is no change in the answer key



25) A body of mass 0.5 kg travels in a straight line 25) 0.5 kg =99 #T UF fdg v = ax32 337 & AT
with velocity v = ax¥2 where a = 5m-'2s-1. The work UF refy o7 T I %’ “%i 5m-1/2g-1 %q Xx=0

done by the net force during its displacement from x ¥ x = 2m TF eI ¥ 2 9E T FIRT BT

=0tox=2mis

AT T B
A) 100 J
) A) 100 J
B)1.5J
B)1.5J
C)50J
C)50J
D)10J
D)10J
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2775096
Number of Claims: 1
Declared Answer Key: C
Candidate Claim: A
Final Answer: C
Explanation:
Given,
M%Gﬁf‘m&bbdﬂ =m =0.5 k,g'
velocily , 0 = a2 -
accelewkion, a = :iﬁ- = jl;_‘, dfl— = vfjﬁ'&
o = (o.ve”") d (ax}h’) : a2, 32/ o 3o
dx z 2

Fovce o“‘“"tj on lhe bodﬁ = Fama'=

x 3okt = 3atxt.

|
2. 2 4

Wor i done in A.-lsplacinj Ine body from x=0 fo x=2m .

2

2
= : = 3
W f;—'dx L‘_f

ol idx = 3,&2[&3]2 = Fax®?
] &

4 3 S
| e g = 2q*
Given, a.= 5m 43 . W=2x%x5%s 507 . Ans ()

References:

NCERT PHYSICS CLASS XI PART-1

Conclusion:

The final answer is option C. There is no change in the answer key




26) The name of water in IUPAC system is 26) IUPAC 9Zfa § 9THT &7 34T 9TH f3T 127 872

A) Hydrogen monoxide

A) ZTZSIST AT FTES
B) Oxidane B) dtefreg

C) Water C) et
D) Hydrogen hydroxide

D) RESIEERESIESIES

Domain Name Batch Question No

Engineering Laterals Batch 2 Q2786599

Number of Claims: 1
Declared Answer Key: B
Candidate Claim: B
Final Answer: B
Explanation:

The framing of the question and the answer options is appropriate to arrive at the correct answer. Since, there is no

discrepancy found between the claimed answer option and the declared answer key, there is no change in the answer
key.

Conclusion:

The final answer is option B. There is no change in the answer key.




27) Most abundant element in earth's crust by weight 27) 9T & STETE 9% § IO § FaTiesh JT7 & 9727

is ST ATAT T &
B) aluminium B) Wﬁﬁqq
C) silicon .

) C) ffera
D) oxygen .

DEIECIEL]
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2786615

Number of Claims: 1

Declared Answer Key: D

Candidate Claim: B

Final Answer: D

Explanation:

Oxygen is the most abundant of all elements. It exists in the free form as dioxygen molecule and makes up
20.9% by volume and 23% by weight of the atmosphere. Oxygen makes up 46.6% by weight of earth crust,
where it is the major constituent of silicate minerals. Silicon is the second most abundant element by weight
in earth’s crust. Aluminium is the third most abundant element (after oxygen and silicon) by weight in
earth’s crust.

The snapshot below can be referred to.

Oxygen is the most abundant of all elements. It exists in the free form as
dioxygen molecules O, and makes up 20.9% by volume and 23% by weight
of the atmosphere. Most of this has been produced by photosynthesis,
the process where the chlorophyll in the green parts of plants uses the
sun’s energy to make foodstuffs such as glucose sugar.

6CO,; + 6H,O + energy from the sun — C,H ;04 + 60,

Oxygen makes up 46.6% by weight of the earth’s crust, where it is the
major constituent of silicate minerals. Oxygen also occurs as many metal
oxide ores, and as deposits of oxosalts such as carbonates, sulphates, ni-
trates and borates. Oceans cover three quarters of the earth's surface,
and oxygen makes up 89% by weight of the water in the oceans. Ozone

O, exists in the upper atmosphere, and is of great importance. This is
discussed later.




References:
1. Concise Inorganic Chemistry by J.D.Lee 5t Edn., ELBS,1996, P-534

2. Chemistry of the elements, by N.N. Greenwood and A. Earnshaw, 2" Edn, Butterworth-Heineman, p-

600.
3. Inorganic Chemistry: Chemical Elements an their Compound by R.L. Dutta, 6th Edn, The New Book

Stall, 2010, p- 186

Conclusion:

The final answer is option D. There is no change in the answer key.



28) Ozone layer protecting earth's surface from 28) granTea UV Tori & g2t it Tqg il LT Hieed

harmful UV rays is present in which layer of grft i qeq ArgHE HT fohe e | Hisg 87

? .

atmosphere? A) ST =T

A) Troposphere .
B) #HATT =

B) Stratosphere )
OERCEEE]

C) lonosphere
D .

D) Exosphere )

Domain Name Batch Question No
Engineering Laterals Batch 2 Q2785536

Number of Claims: 1
Declared Answer Key: B
Candidate Claim: B
Final Answer: B

Explanation:

The framing of the question and the answer options is appropriate to arrive at the correct answer. Since, there is no

discrepancy found between the claimed answer option and the declared answer key, there is no change in the answer

key.

Conclusion:

The final answer is option B. There is no change in the answer key.




29) Four metals 4:5:C and D have SRP values of 29) T &Tqait A,B,C i< D & #H: - 2.76V, -1.66
V,-0.76V 3T +0.80 V* SRP g7 g, T4H & daH

-276V,-166V,-0.76V a

+080V

among these is

respectively, the most reducing metal Wﬂ'@%

A) B
A) B B) D
C)c
D) A
D) 4
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2780867

Number of Claims: 1
Declared Answer Key: D
Candidate Claim:D

Final Answer: D

Explanation:

The framing of the question and the answer options is appropriate to arrive at the correct answer. Since, there is no

discrepancy found between the claimed answer option and the declared answer key, there is no change in the answer

key.

Conclusion:

The final answer is option D. There is no change in the answer key.




30) Galvanization is deposition of 30) FeawTeheor T Herqor 747 g2

A) Aluminium oin iron A) FTg 9T wﬁﬁ‘q‘q

B) Zinc on iron B) Ftﬁ% T B
C) Copper on iron

C) /I 9T ataT
D) Tin on iron
: D) s e for
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2786648

Number of Claims: 1
Declared Answer Key: B
Candidate Claim: B
Final Answer: B
Explanation:

The framing of the question and the answer options is appropriate to arrive at the correct answer. Since, there is no
discrepancy found between the claimed answer option and the declared answer key, there is no change in the answer

key.

Conclusion:

The final answer is option B. There is no change in the answer key.




31) Which one of the following cutting fluids is used 31) =g =g # wefifdwr & = b & 39 &7

while machining cast iron? S PILRERIESIGL g?
A) Soluble oil A) ﬂT'l'rﬂ?ﬁT'r 3T
B) Water B) Sfet
C) Dry air
C) o arg
D) Mineral oil
D) Efst a1
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2786530

Number of Claims: 2
Declared Answer Key: C
Candidate Claim: B, D
Final Answer: C

Explanation:

Cast iron contains a larger percentage of carbon in the form of graphite that acts as a lubricant for its cutting.
The snapshot below can be referred to.

Gray cast iron. Gray iron is the most widely used of cast metals. In
this iron, the carbon is in the form of graphite flakes that form a mul-
titude of notches and discontinuities in the iron matrix. The appear-
ance of the fracture of this iron is gray because the graphite flakes
are exposed. The strength of the iron increases as the graphite-crystal
size decreases and the amount of cementite increases. Gray cast iron
is easily machinable because the graphite carbon acts as a lubricant
for the cutting tool and also provides discontinuities which break the
chips as they are cast. Gray iron, having a wide range of tensile
strength, from 20,000-30,000 to 90,000 psi, can be made by alloying
with nickel, chromium, molybdenum, vanadium, and copper.

References:

https://testbook.com/question-answer/while-machining-cast-iron-the-coolant-used-should--
6049b359aad553b68d2e1bf9
https://www.google.co.in/books/edition/Boiler_Operator_S_Gd_4E/DaXRImM74kIC?hl=en&gbpv=1&dq=Ca
st++iron+contains+a+larger+percentage+of+carbon+in+the+form+of+graphite+that+acts+as+a+lubricant+f

or+its+cutting.&pg=PA197&printsec=frontcover



https://mytutorialworld.com/objective-
questions/single_question_view.php?table_name=fitter_set_2_sheet_metal&uid=1&title=Which%20cutting%
20fluid%20used%20for%20drilling%20in%20cast%20iron?
https://www.google.co.in/books/edition/Tech_Of_Machine_Tools_Sie/WGTNPz4NEzQC?hl=en&gbpv=1&dq
=Cast+iron+Dry+Air+jet+Dry+air&pg=PA269&printsec=frontcover
https://www.google.co.in/books/edition/Technology_of_Machine_Tools/A-

E3AWAAQBAJ?hl=en&gbpv=1&dq=Cast+iron+Dry+Air+jet+Dry+air&pg=PA271&printsec=frontcover

Conclusion:

The final answer is option C. There is no change in the answer key.



32) In nature most of the metals are found in 32) Wl # srfersrier oy fohe &9 | 978 STl 82

A) form of alloys A) Ts1 gTet & =7 |
B) both oxidised and reduced form B) m A =T 29T =97 &
C) oxidised form C) aﬁéﬁ%ﬁr =73
D) reduced form .
) D) =i &9 |
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2786618

Number of Claims: 1

Declared Answer Key: C

Candidate Claim: C

Final Answer: C

Explanation:

The framing of the question and the answer options is appropriate to arrive at the correct answer. Since, there is no

discrepancy found between the claimed answer option and the declared answer key, there is no change in the answer

key.

Conclusion:

The final answer is option C. There is no change in the answer key.



33) Best quality steel is manufactured by 33) ITH IUTETT AT T KT (FHTOT ToheTeh T AT

A) Electrical process STAT 87
B) Crucible process A) ﬁ-g—(r IEDI
C) Bassemer's process B) W P IER
D) Simenes Martin's process C) T gt
D) Htwe wrfe giehar
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2786649

Number of Claims: 1
Declared Answer Key: A
Candidate Claim: A
Final Answer: A
Explanation:

The framing of the question and the answer options is appropriate to arrive at the correct answer. Since, there is no
discrepancy found between the claimed answer option and the declared answer key, there is no change in the answer

key.

Conclusion:

The final answer is option A. There is no change in the answer key.




34) Permanent hardness can be removed by adding 34) Tt w3aT &1 4T 0T g2 FFaT ST Feha

A) Sodium bicarbonate g?
B) Sodium carbonate A) TI=TH FTEHTEE
C) Bleaching powder B) @feaH Fratve
D) Chlorine water C) =hfRT TrI=x
D) FARI dfeT
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2786603

Number of Claims: 1

Declared Answer Key: B

Candidate Claim: C

Final Answer: B

Explanation:

Permanent hardness can be removed by precipitating CaCO3; and MgCO:s.

CaCl; + Na.CO3 = CaCOs + 2NaCl.

By washing soda method: In this method, water is treated with a calculated amount of washing soda
(Na2COs) which convert the chlorides and sulphate of calcium and magnesium into their respective
carbonates which get precipitated.

The snapshot below can be referred to.

It is also likely that both temporary as well as permanent hardness may be present together. In such
cases, water is softened by adding sodium hydroxide.

Ca(HCO;), * 2NaOH — CaCO, + Na,CO; + 2H,0
Cause of temp. hardness Temp. hardness removed

CaCl, + Na,CO,3 —p CaCO, + 2NaCl
Cause of permanent hardness  From first step  Permanent hardness removed

References:

Modern ABC Chemistry Class Xl, Part-Il, by S.P. Jauhar, Modern Publisher, p- 9/20

General and Inorganic Chemistry by P.K. Dutt, Sarat Book House, 8th Edn, 1986, p-345
https://www.google.co.in/books/edition/Pow_Plant_Engg/votk3eNryHMC?hl=en&gbpv=1&dgq=CaCl2+%2B+
Na2C0O3+%3D+CaCO3+%2B+2NaCl.&pg=PA405&printsec=frontcover
https://www.google.co.in/books/edition/Industrial_Chemistry/Q6XFfg8lluAC?hl=en&gbpv=1&dq=CaCl2+%2
B+Na2CO03+%3D+CaCO3+%2B+2NaCl.&pg=SA10-PA41&printsec=frontcover

Conclusion: The final answer is option B.There is no change in the answer key.



35) If the spin of both the two electrons in (2px)2 35) Ifx T Tl = AT ¥, (2px)2 TAFAT A

electrons in an electronic configuration are +1/2, gy zorsFat=T 1 fRaT +1/2 g ar
then

A) TZ FaA EE & [HIH FT Iecro HiLal &; ATHATS:

A) it violates Hund's rule only; not Aufbau principle

Rrgia sfiT qTSeht  srast fAgia &7 981
and Pauli's exclusion principle

B) 7 el STHaTS: % [RETd FT Ieeis FLAT &,
T % oW i TTSeT & At [Rgid &1 981

C) 78 Fad T3l 6 ATaeid THGZid FT IJoorsd

FIAT &, ATHATS, (FGTd AT g€ & HIH HT Tal
4 D) g= * fAaw, srwars fogia o ars«t *

B) it violates Aufbau's principle only; not Hund's rule

and Pauli's exclusion principle

C) it violates Pauli's exclusion principle only; not

aufbau principle and Hund's rule

D) it violates Hund's rule, Aufbau principle an

Pauli's exclusion principle TSI RGTd T Iee=I FL1 %
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2780533

Number of Claims: 1

Declared Answer Key: C

Candidate Claim: B

Final Answer: C

Explanation:

Pauli principle state no two electron can have all the four quantum numbers same. So the quest violates
Paulis principle, with both electron having the same spin. The filling of electron is in order. Hence, there is
no violation in Hunds rule and Aufbau p

The correct option is C.

As two electrons is in the same orbital with same spin, so it violets the Pauli Exclusion Principle because in
this configuration all the four quantum numbers will be the same (n =2, | = 1, m= either -1 or +1, s= +1/2 for
both electron). Hund’s Rule is not violated because either placing the one electron each in the different 2p-
subshell or both in the same 2p subshell with +1/2 spin, the spin multiplicity will be 3 (whatever may the

stability). Aufbau Principle is not violated because the filling of electron is in the same energy level.

References:

General and Inorganic Chemistry (Part-1) by R. Sarkar, 3rd Edn., 2011, New Central Book Agency.



https://books.google.co.in/books?id=w44FWAJZg8QC&pg=PA170&Ipg=PA170&dqg=If+the+spin+of+both+t
he+two+electrons+in+(2px)2+electrons+in+an+electronic+configuration+are+%2B1/2,+then&source=bl&ots
=11DqyH2JbW&sig=ACfU3UOvwXmfsgZ-
5YghTdzlv_Aomnyimw&hl=en&sa=X&ved=2ahUKEwiyy60tzqjzAhX14jgGHbOhD6gQ6AF6BAgOEAM#v=0
nepage&q=1f%20the%20spin%200f%20both%20the % 20two%20electrons%20in%20(2px)2%20electrons %
20in%20an%20electronic%20configuration%20are %20%2B1%2F2%2C%20then&f=true

Conclusion:

The final answer is option C.There is no change in the answer key.



36) Steel is heated to below red heat and then cooled 36) TETeT FT &Ter qTT & 1= T T AT FATAT & AT

slowly. The process refers to TR effv-efiv Fer frar Smar 21 a8 & whear =
A) Hardening TR Far g?
B) Tempering A) @é‘ﬁﬁr
C) Annealing B) Feufi
D) Nitriding C) A
D) EIEFEE
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2786647

Number of Claims: 1
Declared Answer Key: C
Candidate Claim: D
Final Answer: C
Explanation:

Hardening: This involves heating steel to a temperature below red heat and then cooling it rapidly by
plunging in oil or water. This is called quenching of steel. ms makes steel very hard but brittle.

Tempering: If quenched steel is reheated to a pre-determined temperature lower than before and kept at it
for pre-determined time, the mechanical properties become changed to a particular extent. This steel is
called tempered steel. Due to this, hardened steel becomes softer and loses its brittleness. Tempered steel
is used in making razor blades, knife, cutlery, sword, springs of watches etc.

Annealing: If steel is heated below red heat and then cooled slowly, the process is called annealing. The
steel so obtained is mild, soft but tensile.

Nitriding: This is modern process of case hardening. It involves heating of alloy steels in an atmosphere of
ammonia gas at 500 - 600 °C. Nitrogen formed by decomposition of ammonia combines with iron to make
iron nitride which is a very hard substance. This makes the steel

surface very hard and resistant to corrosion.

The snapshot below can be referred to.

Sol. (b) The process of heating the steel to a temperature much
below to redness and cooling it slowly, is called annealing.

References:
Inorganic Chemistry (Question & Answer) by R.L. Madan & G.D. Tuli, S.Chand Publication, 2007, p-179
Dinesh Objective Chemistry (Vol. Ill) by P.N. Kapil et. al. S. Dinesh & Co., 2010, p-I-507



https://www.google.co.in/books/edition/Self_Study_Guide_B_Pharma_Entrance_Exam/87kgEAAAQBAJ?hI
=en&gbpv=1&dq=Steel+is+heated+to+below+red+heat+and+then+cooled+slowly.+The+process+refers+to
&pg=PA18&printsec=frontcover
https://www.google.co.in/books/edition/Essential_Chemistry_Xii/ZSQ6QRiYH_wC?hl=en&gbpv=1&dq=Steel

+istheated+to+below+red+heat+and+then+cooled+slowly.+ The+process+refers+to&pg=SA6-
PA28&printsec=frontcover

Conclusion:

The final answer is option C.There is no change in the answer key.



37) Mischmetal contains
A) Fe + Cr + Mn ss

B) Fe + Mn + Co
C)Fe+C+Al

D) Fe + Ce

37) foreriear &

A)Fe + Cr+Mngrarg
B) Fe+Mn+ Cograrsg
C)Fe+C+Algare
D)Fe + Cegrarg

Domain Name

Batch

Question No

Engineering Laterals

Batch 2

Q2786650

Number of Claims: 3
Declared Answer Key: D
Candidate Claim: A
Final Answer: D

Explanation:

Mischmetal contains Fe = 30% and Ce = 70%

The snapshot below can be referred to.

B FULL ARTICLE

Misch metal, alloy
consisting of about 50

percent cerium, 25

Key People: Carl Auer, Freiherr von

Welsbach

percent lanthanum, 15 percent neodyvmium, and 10 percent

other rare-earth metals and iron. Misch metal has been

produced on a relatively large scale since the early 1000s as the

primary commercial form of mixed rare-earth metals. Misch

metal alloyed with iron is the flint (spark-producing agent) in

cigarette lighters and similar devices. Misch metal is also used

as a deoxidizer in various alloys and to remove oxygen in

vacuum tubes. As an alloving agent in magnesium, it

contributes to high strength and creep resistance.

References:

Concise Inorganic Chemistry, by J.D. Lee, 5th Edn., 2011, Wiley India, p-863
General and Inorganic Chemistry by P.K. Dutt, Sarat Book House, 8th Edn, 1986, p-454

Conclusion: The final answer is option D. There is no change in the answer key.




38) Which of the following is a type of paint coating 38) fAHferfaa & & &9 IW F@+ & HaATAT YT FIfeT

failure related to aging? TAroheTaT T U T 872

A) Wrinkling A) ﬁ-iﬁ-rr

B) Blushing B) seT9Te

C) Undercuttin . .

) g C) srswafE

D) Cratering .

D) srefisT
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2786520

Number of Claims: 1
Declared Answer Key: C
Candidate Claim: C
Final Answer: C
Explanation:

The framing of the question and the answer options is appropriate to arrive at the correct answer. Since, there is no

discrepancy found between the claimed answer option and the declared answer key, there is no change in the answer

key.

Conclusion:

The final answer is option C. There is no change in the answer key.




39) In which year, Water Pollution and Prevention 39) {TZa AT 1T {3 T srguor &7 f=ra e
Act was enacted by Government of India to regulate sfrx Trerer 3 form Ster srgoroT ST Treperm srferfaam =

and prevent pollution? AR B =T 9T
A) 1986 A) 1986
B) 1974 B) 1974
C) 1970
C) 1970
D) 1981
D) 1981
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2785535

Number of Claims: 1
Declared Answer Key: B
Candidate Claim:D

Final Answer: B

Explanation:
Water Pollution and Prevention Act was enacted in 1974 by Government of India to regulate and prevent pollution.
This Act may be called the Water (Prevention and Control of Pollution) Act, 1974. It applies in the first instance to the

whole of the States of Assam, Bihar, Gujarat, Haryana, Himachal Pradesh, Jammu and Kashmir, Karnataka, Kerala,
Madhya Pradesh, Rajasthan, Tripura and West Bengal and the Union territories.

The snapshot below can be referred to.

Water Pollution Updated On : 25 Sep 2019 I 4

The Water (Prevention and Control of Pollution) Act was enacted in 1974 to provide for the prevention and control of
water pollution, and for the maintaining or restoring of wholesomeness of water in the country. The Act was amended in
1988. The Water (Prevention and Control of Pollution) Cess Act was enacted in 1977, to provide for the levy and
collection of a cess on water consumed by persons operating and carrying on certain types of industrial activities. This
cess is collected with a view to augment the resources of the Central Board and the State Boards for the prevention and

control of water pollution constituted under the Water (Prevention and Control of Pollution) Act, 1974. The Act was last
amended in 2003.

References:

General science standard Eight published by Maharashtra state
http://moef.nic.in/division/water-pollution
Environmental Science, by S.C. Santra, 2nd Edn., 2008, New Central Book Agency (P) Ltd. p-904.

https://cpcb.nic.in/water-pollution/

https://hspcb.gov.infWater%20Act,%201974%20Relevant%20provisions.pdf

Conclusion:

The final answer is option B. There is no change in the answer key.




40) The standard reduction electrode potentials of 40) =fuz 3fir FffoEw ToFare F AW Rewae
copper and magnesium electrodes are + 0.34 and zoerare fawe wH: + 0.34 T - 2.34 V %I e FT

—234V respectively. The emf of the cell is g-q—q-qq; g
A) -20V A) - 2.0V
B) 7.0V B) 7.07
C)+268V
) C) +268V
D) —-268V
D) -268V
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2780866

Number of Claims: 1
Declared Answer Key: C
Candidate Claim:A

Final Answer: C

Explanation:

According to the question, we can see the Mg has the lower SRP than Cu, hence Mg acts as anode and
Cu acts as Cathode. Hence, the emf of the cell (ECell) = Ecathode - Eanode = ECu0 - EMg0 = 0.34 - (-
2.34) = +2.68 V. Hence the correct option is C.

References:

Selected Topics in Inorganic Chemistry, W.U. Malik, G.D. Tuli, R.D. Madan, 2013, S. Chand & Company
Pvt. Ltd. p-677.
https://www.google.co.in/books/edition/Nature_Of_Chemistry_Volume_3/r3BAtEAAAQBAJ?hI=en&gbpv=1&d
g=standard+reduction+electrode+potentials+of+copper+and+magnesium+electrodes+are+%2B+0.34+and

&pg=PA200&printsec=frontcover

Conclusion:

The final answer is option C. There is no change in the answer key.



41) Which one among the following combinations is 41) Fferfaa SasHT § & FI9-97, Fef1T TR *

CORRECT about shape of orbital? T H qET 22
A) s-spherical; p-dumbbell; d-double bumb bell and A) s-TIETHTY; p-39; -2 a5 ¥ 37 S f-
doughnut; f-diffused R

B) s-disc; p-dumbbell; d-double bumb bell and
doughnut; f-diffused

B) s-lR%#; p-ga«; d-s9«1 T 9« X THE; f-
IERIES)

C) s-doughnut; p-dumbbell; d-double bumb bell and )
C) s-8Mg; p-34; d-39d aF a1 3T e, f-

doughnut; f-disc

D) s-spherical; p-dumbbell; d-double bumb bell; f-

disc D) s-TTHATHTT; p-Sa; d-Tat o o; f-ITFF
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2780524

Number of Claims: 23
Declared Answer Key: B

Candidate Claim: A,B,C,D

Final Answer: A

Explanation:

s-is spherical, neither doughnut nor disc, so 2 & 3 are wrong. F -is diffused not disc shaped. The correct
answer is Option A.

s-spherical; p-dumbbell; d-double bumb bell and doughnut; f-diffused

References:

1. Concise Inorganic Chemistry, by J.D. Lee, 5th Edn., 2011, Wiley India, p-13

2. Fundamental Concepts of Inorganic Chemistry (vol. 1), by A.K. Das, 2nd End., 2012, CBS Publishers &
Distributors Pvt. Ltd. p-207
https://www.vedantu.com/question-answer/shape-of-the-forbital-a-spherical-b-dumb-class-11-chemistry-
cbse-5f7ea4c066f6e04fe0cd4001

Conclusion:

The final answer is option A. There is change from option B to A.



42) The solution with highest conductivity is : 42) IFIH ATASAT dATA] EEEG g;

A) 1 mole of KClin 500 cm?3 of the solution A) === % 500 cm3 § KCI #T 1 91
B) 1 mole of KCl in 100 cm3 of the solution B) BT ¥ 100 cm?3 ¥ KCI %7 1 917
C) 1 mole of KCl'in 250 cm?® of the solution C) farerr % 250 cm@ & KCI % 1 Hrer

D) 1 mole of KClin 1000 cm3 of the solution D) & ¥ 1000 cm? & KCI 7T 1 1t

Domain Name Batch Question No

Engineering Laterals Batch 2 Q2780892

Number of Claims: 8
Declared Answer Key: D

Candidate Claim: A, B, C, None of These

Final Answer: D

Explanation:

As the electrolyte (KCI) is strong, hence the conductivity of electrolyte solution depends on the
concentration of the solution. The conductivity of KCl increases with increasing dilution. So, the correct

option is D which is the most dilute solution among those solutions.

References:

A Text Book of Physical Chemistry by A.S. Negi and S.C. Anand, 1st Edn., 2001, New Age International (P)
Ltd. Publishers, p-504.
https://www.zigya.com/study/book?class=12&board=cbse&subject=chemistry&book=chemistry+i&chapter=
electrochemistry&q_type=&q_topic=&q_category=&question_id=CHEN12045924
http://rajpalmalra.blog.com/?page_id=69

http://www.finishing.com/100/10.shtml

Conclusion:

The final answer is option D. There is no change in the answer key.




43) The amount of coulombs of electricity required to 43) g ILFHTES & 1 HIST &l SAeisT |

oxidise 1 mole of hydrogen peroxide to oxygen is : AtFEfTFd Fe & forT swerearh A= werm & A
A)2C EF
B) 386000C A)2C
C) 48250C B) 386000C
D) 96500C C) 48250C
D) 96500C
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2780880

Number of Claims: 1
Declared Answer Key: B
Candidate Claim: C

Final Answer: None of these

Explanation:

Oxidation of 1 mole of H20:2 will require 2 moles of electrons. Hence ,the amount of coulombs of
electricity required = 2 x 96500 C=193000C=1.93x105C
So, the correct option is not given.

The snapshot below can be referred to.

156. H,0, — H,0+ % 0,

ie. 2H" +2¢° — H,0
Thus 1 mole of H,O, requires

2F =2x96500C=1.93x10° C

References:

Pradeep’s New Course Chemistry

Dinesh Objective Chemistry (Vol. I) by P.N. Kapil et. al. S. Dinesh & Co., 2010, p-P-753
https://books.google.co.in/books?id=eW1aJ2FG7G4C&pg=RA10-PA22&lpg=RA10-
PA22&dg=amount+of+coulombs+of+electricity+required+to+oxidise+1+mole+of+hydrogen++peroxi
de+to+oxygen&source=bl&ots=FiCwgxhqZp&sig=ACfU3U3FZeO0L11ZK6raRP1yYybrFgdnCIA&hl=en&s
a=X&ved=2ahUKEwjWmOu68qjzAhUi7XMBHcU5DIAQ6AF6BAggEAM#v=onepage&q=amount%20of
%Z20coulombs%200f%20electricity%20required%20to%200xidise%201%20mole%200f%20hydrog
en%20%?20peroxide%20to%200xygen&f=false




https://www.toppr.com/ask/question/how-many-coulomb-are-required-for-the-oxidation-of-1-
mole-of-h202-to-02/

Conclusion:

As none of the options are correct, the question is nullified.



44) Which act was enacted in 1981 by Government 44) qTq 9¥#TL 7 1981 § WgU & HAa F:xd

of India to regulate and prevent pollution? #qT T F oo w-ar srfarRam srtaatag B
A) Environmental Protection Act oqT?

B) Environmental Pollution and Prevention Act A) T Heor fafAEa

C) Water Pollution and Prevention Act B) Tatawor E A AT At

D) The Air (Prevention and Control of Pollution) Act,

C) ST g ST THATH AT«
D) AT (TRATH 3 srguor f===n) srferfaae

Domain Name Batch Question No

Engineering Laterals Batch 2 2785534

Number of Claims: 1
Declared Answer Key: D
Candidate Claim:D

Final Answer: D
Explanation:

The framing of the question and the answer options is appropriate to arrive at the correct answer. Since, there is no

discrepancy found between the claimed answer option and the declared answer key, there is no change in the answer

key.

Conclusion:

The final answer is option D. There is no change in the answer key.




45) In the Arithmetic Progression 1, 2, 3, 4, ........ , 45) T|iaT 9vit 1, 2, 3, 4, ........ #, 10 U1 T FT
the sum upto 10 terms is DIR
A) 505 A) 505
B) 5050 B) 5050
C) 50

) C) 50
D) 55

D) 55
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2781154

Number of Claims: 1
Declared Answer Key: D
Candidate Claim: A

Final Answer: D

Explanation:
Sum of n natural numbers = "(n;l) = 10(120+1) =55
Conclusion:

The final answer is option D. There is no change in the answer key.




46) If Ais a 3x3 matrix, then |3A| = 46) T A3 X 3 feam g, a1 | 3A | =

A) A3 A) |A]
B) 27|A| B) 27|A|
C) 3|A| C) 31A|
D) 9|A| D) 9JA|
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2781132

Number of Claims: 1

Declared Answer Key: B

Candidate Claim: B

Final Answer: B

Explanation:

The framing of the question and the answer options is appropriate to arrive at the correct answer. Since,

there is no discrepancy found between the claimed answer option and the declared answer key, there is no

change in the answer key.

‘7 |Z2Aa] = Kzlﬂl = a7 | A}

i (3) Aede AR

Conclusion: The final answer is option B. There is no change in the answer key.



47) Number of partial fractions in the resolving of ST

2x+11 47) X% ~7XH10 3y ey g7y I ATOrF et Y weAT
x4-7x+10 T T—@Tﬁ")
A) 2
A) 2
B) 1
B) 1
C)4
C)4
D)3
D)3
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2786422

Number of Claims: 1
Declared Answer Key: A
Candidate Claim:D

Final Answer: A

Explanation:

Reviewer Reference: NCERT Class 12 Mathematics
2x+11

x2-7x+10
7 5

x—5 x-2

Hence: 2 terms

Conclusion:

The final answer is option A. There is no change in the answer key.




4 x) i x )
y=tanh™ tan— | dy y=tanh™’ tan— dy

48) o 2/ then dx s 48) \ | qrodx 3
1
A) - A) -
) ) =
B) secx B) secx
sec:% Seczi
) — c) —=
2 2 X
1—-tan"— 1—-tan " —
2
SeC:— sec:i
- 2 2
O i) D) |
2/ 1-tan 5 | 2 1—tan'—;
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2781113

Number of Claims: 7
Declared Answer Key: D

Candidate Claim: A,B,C,Wrong Framing of Question

Final Answer: D

Explanation:
~ | 3 ——
c) - !m\ L\ ("a\v\ ')‘;)
d \
- t‘T'x 6-—-—-—-—-———. m (g ,_.'2"(} 1
- _(‘(_(DK ﬂn( (e)
3. (‘ ‘(lu\Q f\) _!h}_ e
i o oy - Acode 1AZ

The question has been framed correctly and candidate should not face any difficulty in arriving at the

correct answer.

Conclusion:

The final answer is option D. There is no change in the answer key.



49) 1 -1 (1 )
(oo ) *=3 \2x"-1)y o4
| — |
| 1-2x° f »
The  derivative  of ) wirt ta 2" 1-x° ,
7 1 \ 1- 2.\ | T %
sec™ | == , x= 1 T
\2x"=1) 5 2 s A) -1
A -1 B) 2
B) 2
C)-2
C) -
D)1
D) 1
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2781120

Number of Claims: 1
Declared Answer Key: A
Candidate Claim:D

Final Answer: A

L2 B TP P BXJT; -) e
af= (a3 - (&= s (a,&r-t) 4 ‘E\}it‘&
lek o - lang, S «:.%};, Rsin'e
"7 Aa 3 l':?}’ = CU((«:' !):T\col,(
&uxa'ﬁ '\tw' S ma ! =
jgﬂ | A _;_‘y_f,- -—=
X,
.:Lr_cl;zl‘lo "J%-c\!‘x!
o %' %%" t :
i @
:E_;_. x
Slede AZ
Conclusion:

The final answer is option A.

There is no change in the answer key.




50) If the vertices of a triangle are (1, k), (4, -3), (-9, 50) =fx et Broqsr  ofr¥ (1, k), (4, -3), (-9, 7) &
7) and its area is 15 sq units, find the value of k? AT ITHT AFA 15 9 TahT2 ¢, av k T 919 79

A) 5 Ry
B) -4 A)5
C)2 B) -4
D) -3 C) 2
D) -3
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2780945

Number of Claims: 1
Declared Answer Key: D

Candidate Claim: Wrong Framing of Question
Final Answer: D

Explanation:

The vértices of the triangle are A(1,k) ,B(4,-3)and C(-9, 7)
1

Area of A ABC = 2 [x1 (y2-y3) + x2 (y3 —y1) + x3 (y1 —y2)]

lJl (o

[1(-83-7)+4(7T-Kk)+(-9) (k+3)] =15
=-10+28 -4k -9k -27 =30
=-9-13k=30

= k=-3

Conclusion:

The question has been framed correctly and candidate should not face any difficulty in arriving at the

correct answer.

The final answer is option D. There is no change in the answer key.




51) Volume is a 51) aigd &

A) Scalar quantity INEIEGEIEN
B) Derived quantity

B) e HTAT
C) Vector quantity C) T FRA
D) Base quantit
) Base quantity D) #eT¥ AT
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2781081

Number of Claims: 9
Declared Answer Key: A

Candidate Claim: A, C, D, Wrong Framing of Question

Final Answer: A

Explanation:

Volume is a scalar Quantity

Conclusion:

The question has been framed correctly and candidate should not face any difficulty in arriving at the

correct answer.

The final answer is option A. There is no change in the answer key.



52) Maximum value of the function 52) 41+ 24x — 18x? AT T SATEHAT T AT &2
41 + 24x — 18x?

A) 49
A) 49
B) 42
B) 42
C) 45
C) 45
D) 40
D) 40
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2786438

Number of Claims: 1
Declared Answer Key: A
Candidate Claim: B
Final Answer: A

Explanation:

Differenciating the expression and equating to 0, we get:
24 -36x=0

=>x=2/3

Maximum value =41+ 16 - 8 = 49

Conclusion:

The final answer is option A. There is no change in the answer key.




4 \"_ 1 ) ” _1 i \". 5 5
tan'.z.l——loglx’-:-y'I:O d_y tan‘.z'l——loglx'-%y'l:O d_y
53) If \x/ 2 then dX js  53)afx A ar dx g
X—=y X -
A = n
Xty Xty
X+ E+
B) h 4 XTYy
X=y X=y
C) (x+y)(x-y) C) (x+y)(x-y)
D) 1 D)1
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2781110

Number of Claims: 1
Declared Answer Key: B
Candidate Claim: B

Final Answer: B

Explanation:
=AY \ Y 3
3> lan (%) = Lra (x %,\\U =10
B e b Je gl g b
Py <%

3 cl, e d
TN (90 G- d
Ay TR x> gl b ca ke, U
AN x. J, %™ A4 %Y ~
L ‘ ‘ w e C'L‘
S« g e g
.—7 \('3 \ % +d f-\-n(. (5)
- S Lo\ = 3
7 ) B 2
= % i o Aeode A3

The framing of the question and the answer options is appropriate to arrive at the correct answer. Since,

there is no discrepancy found between the claimed answer option and the declared answer key, there is no

change in the answer key.

Conclusion: The final answer is option B. There is no change in the answer key.




54) Differentiate sin(sin2x) 54) sin(sin2x) T sa< FT &

A) 2cos2x.sin2x A) 2cos2x.sin2x

B) cos2x.cos(sin2x) B) cos2x.cos(sin2x)

C) 2cos2x.cos2x C) 2c0s2X.C0S2x

D) 2cos2x.cos(sin2x) D) 2c0s2x.cos(sin2x)

Domain Name Batch Question No

Engineering Laterals Batch 2 Q2781103

Number of Claims: 1
Declared Answer Key: D
Candidate Claim:D

Final Answer: D

Explanation:

Let y=sin(sin(2x)) = dy/dx = d/dx sin(sin(2x)) = cos(sin2x) . d/dx sin(2x) = cos(sin2x) . cos(2x) d/dx (2x)
= 2c0s2X . cos (sin2x)

The framing of the question and the answer options is appropriate to arrive at the correct answer. Since,
there is no discrepancy found between the claimed answer option and the declared answer key, there is no

change in the answer key.

Conclusion: The final answer is option D. There is no change in the answer key.



55) The multiplicative inverse of the matrix A = 0 01
00 17 [ 2
(1 0 O]

01 0 55) =g (Afea) A = - - T IO TAAT
[1 0 0],
. -is g

[0 0 0] 0 0 0]
A) .0 1 0' A) 0 1

10 0 1] 10 0 1]

[0 0 1] o 0 1]
By 0 1 0 B) 0 1 0

11 0 0f 11 0 0f

(o 1 -1 ro 1 -1
cy o -1 0 cy|o -1 0

-1 0 0] -1 0 0]

-1 0 0] -1 0 0]
Dy 0 -1 0/ D)y 0 -1 0

10 0 -1 10 0 -1

Domain Name Batch Question No
Engineering Laterals Batch 2 Q2780897

Number of Claims: 1
Declared Answer Key: B
Candidate Claim: B

Final Answer: B

Explanation:
n oy % "
4 O=T 5 Ara=xT
-1
- - - 0..40 i
Ve o ok}
- —g
fne () lede Ay

The framing of the question and the answer options is appropriate to arrive at the correct answer. Since,

there is no discrepancy found between the claimed answer option and the declared answer key, there is no

change in the answer key.

Conclusion:

The final answer is option B. There is no change in the answer key.




56) Find the derivative of v2x + 2+x - 1/v/x? 56) V2x + 2+ - 1/</x FT [T GTat
A) V2+1/vx(1-1/2x) A) V2+1/Vx(1-1/2x)

B) v2-1/vx(1-1/2x) B) v2-1/4/x(1-1/2x)

C) V2+1/¥x(1+1/2x) C) v2+1/Vx(1+1/2x)

D) v2-1/4/x(1+1/2x) D) v2-1/Vx(1+1/2x)

Domain Name Batch Question No

Engineering Laterals Batch 2 Q2781104

Number of Claims: 18
Declared Answer Key: A

Candidate Claim: A, B,C, D

Final Answer: C

Explanation:

Let y=V2x + 2Vx - 1/Vx
then, dy/dx =v2 + 2. (1/2).(1/vx) — 1.(-1/2).(1/(xVx)) =
V2 + 1/¥x + 1/(2xVx) = V2 + 1/vx (1+1/2x)

Conclusion:

The final answer is option C. There is change from option A to C.



57) If 1= 3T+ 2K m =11l K gngn =2 tep J4p BT)ATE

- _ - 5 2'-: _ - - I_«‘ _ 5
K are three vectors, then what is the value of Asuch 1= -7+ ““ m="+7+2 ¥ dwn=2 '+
that n is perpendicular to Al + m ? 2 j +2 k & Tt gf’ ar A FT °19 4T '@TIT ED
A) 1 n Al + m & d&aq aI7?
B) 2 A) 1
C) -1 B) 2
C) 1
D) -2 )
D) -2
Domain Name Batch Question No
Engineering Laterals Batch 2 Q2780969

Number of Claims: 2

Declared Answer Key: C

Candidate Claim: A, C

Final Answer: C

Explanation:

Justification: Given Al + m implies

ABi ™+ "+2k ™) + i T4 T+2k T
=(BAM1)i7-(M-1) T+ (2M2) k™

Given n is perpendicular to Al + m =>n.(Al + m)=0
(20742 7+2k 7). [(BA1) i T- (A1) j T+ (2A+2) k71 =0
2(3A+1) - 2(A-1) + 2(2A+2) =0

BA+ 2 - 2A\+ 2 + 4\ + 4=0

8A+8=0

8A= -8

A= -1

Conclusion:

The final answer is option C. There is no change in the answer key.



